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Let’s review one like we did last time:
	x
	y

	0
	

	1
	

	2
	

	3
	

	4
	


· y = x + 3
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Now, you’ll notice we’ve always used positive values. Now we are going to use negative values. To do that, we need a graph that goes in a negative direction.
[image: Image result for graph paper]Therefore we have a graph like this one.
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What we were working last time was what’s called “quadrant I” (quadrant 1). That’s the upper right corner where all numbers are positive. This new graph gives more complete ability to use numbers. Let’s try one




	x
	y

	-2
	-2

	-1
	0

	0
	2

	1
	4

	2
	6


y = 2x + 2
[image: Image result for graph paper]












Notice that the table has negative x values now.









Try your own:
	x
	y

	-2
	

	-1
	

	0
	

	1
	

	2
	



1) y = 3x + 1
[image: Image result for graph paper]
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	2
	


2) [image: Image result for graph paper]y = 2x – 1 
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3) [image: Image result for graph paper]y = 3x – 1
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4) [image: Image result for graph paper]y = -2x + 1
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5) y = -4x +6
[image: Image result for graph paper]










image1.gif




image2.gif




image3.gif




